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Question 1

If a;bis 7:3, then a*+b%ab=?

Twah=7:2 7 57 a‘+b%ab=?

Question 2

If x+y : x-y=5:2, y:x=?

x+y : x-y=5:2 (e y:x=?

Question 3

x varies inversely with y and if y=10 and x=2, then y=4, x=?
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W x, y T SML FBTOR AMF ]2 y=10 20T x=2% O y=4 X[, x -q NV $© 2(J ?

Question 4

Fmle<en’n =7

—

Tvm’ecn® TWEEnx?

Question 5

Solve: 81=3 .9

§1=3.9* = x=?

Question 6

If 4,7,10, ... are in an AP, find out the 20th term of the series.

4710, ... 5IS6F 20 ©F *% N7 FEA|

Question 7

If the base is 24/3, find the value of
Logla4,

144 =eEms T ss= e e 243

Question 8

The life of the machine is 10 years and its cost price is Rs.10,000/-. If the depreciation rate is 10% pa, what will be the price of the machine after 10 years ?



G316 T MY, 10 IRF 7L TFIYAT Rs.10,000/-, I S IR 10% 2 WIHT 2T OF 10 IGF N TFOI oIy F© (J ?

Question 9

Solve: 4({1-x)= 16

TARE FF 4 1-%)= 16

Question 10

A line joining (4,7) and (3,-4)points intersects the x-axis in the ratio of-

(4,7) 8 (3,-4)R™RCT STTANGP (FAILH x W5 ] [P HFANS [oe =27 2

Question 11

Three vertices of a triangle are (3,0), (0,0) and (0,5). Find out the equation of the circle passing through these vertices.

G376 et R™Mesfe (3,0), (0,0), (0,5), a2 AMHIFMR Jrad ANFIY RfT FHA|

Question 12
Find out the vertex of a Parabola
yi=dax.

yi=dax =ETET AN TEE TF

Question 13

What is the length of latus rectum of a parabola ?

HfIIre Nfoara ol =1

Question 14

If f(x)=€*, f'(x)="?

T f(x)=e* 70, S (x)=?

Question 15

If534y* = @, dy/dx=?
X2 3py23 = 2% s dy/dx=?

Question 16

If x:y=5:3, then 3x+4y:3x-4y="?
Xy M 5: 3T ST 3x +4y : 3x—4y =?

Question 17

If 5:12=30:X, then X="?
5:12=30:xX(T, x="7



Question 18

if x varies as y? and y=z when x=6. Find out the relation between x & y
X, ¥y 2 - AN AL (0N AR Ry =2 YN x = 6; ©OIR(eT x 8 y-ﬁW%Wﬁ‘fﬂWl

Question 19

4,7,10, ..... are in AP, Find out the 15th term
4,7,10, ... ANSBT 159 2% [Nfg T |

Question 20

If the first term of a GP is 80 and fifth term is 405, common ration is 3, find out the sum of first five terms of the GP
(PN BTNMBT ANOT AT AN 80 I3 ANBLN AR 405, ALY QAT 3, AV 156 AT (1P R[]

Question 21

Find out the maximum value of 1+8x-6x?
1 + 8x — 6x 2 -9 SIS NI (NI FE|

Question 22

Solve: |5-2x|<1
SN PFPN: | 5-2x| <1

Question 23

The area of a triangle whose vertices are (0,0), (5,3) and (1,9) will be
(0, 0), (5, 3) 8 (1, 9) TR [NfT FE QTR CFaHel I —

Question 24

Standard equation of a Parabola is

@fw (parabola) o STRRAET =T

Question 25

the coordinate of the Focus of a parabola , y*>=4ax

y2 = 4ax WEICSF NIfW (focus)-T BT A

Question 26

The length of Latus Rectum of an Ellipse

I '@W (ellipse) NGEATRT (latus rectum) [Ees

Question 27

If x=at? and y=2at, find out dydx
dy/dxﬁ‘fﬁw :x=at2,y=2at

Question 28



Centre of a Hyperbola
I35 2AJCeA (FHI BINIE =4 (hyperbola)

Question 29

The radius of a circle going though the points (-3,5) and (1,2)
(-3, 5) G2 (1, 2 ) [~ It I =

Question 30

Two lines will be parallel to each other if
7O SRR TSI (F IR




